B—E THRX

1-1. R AIHES 72
(1) 2341; (2) 45231;  (3)523146879; (4) 2k,1,2k — 1,2,k +1,k.
1-2.  FIFHXS A LVENHE R 5147 5120
4 3 2 0 1 x y  Xx+y
(D _—t ) |1 -4 -1 3|y x+y x
-1 8 3 X+y X y
1-3.  FIHATHI AR 2 SGHE T 514751
01 01 0 1 0 0
1 010 0 2
&D) ; 2 ..
01 0 O
00 1 1 0O 0 O n—1
n 0 O 0
0 0 0 1 0
a 0 0 b
0 0 2 0 0
0 ¢ d O
(3) (4
0 e f O
2002 O 0 0 0
g 0 0 h
0 0 0 0 2003
1-4. FETHTHI:
4 1 2 4 1 2 3 4
1 2 0 2 2 3 4 1
(D ; 2 ,
10 5 2 0 3 4 1 2
o 1 1 7 4 1 2 3
a 1 0 0
—ab ac ae
-1 b 1 O
3) |bd —cd de]|; (4) ;
by v of 0 -1 ¢ 1
C _
0O 0 -1 d
1 b, 0 0
a+b+c a+b+c a+b+c
-1 1-b5, b, 0
(5) (6) a b
0 -1 1-b, b 5 )
a b
0 0 -1 1-b,
1-5. UERA:




a ab b
(1) 2a a+b 2b|=(a
1 1 1

az+i2 a 1 1
a a
#+%—b 1
O
cz+—2 c — 1
c c
f+%—d LI
d d
1-6. fi#JiTE

-b)*; (2)

=0, UXlabed =1.

O O =
S O x
D% N -

1-7. REHx, y WME, 232

1-8. iHE AT

l+x 1 1 1
1 1-x 1 1
11 14y 1
11 1 1-y

1 2 3 n 1
1 x+1 3 n 2
(1 D, =|1 2 x+1 - n | (2> D, =|2
1 2 3 x+1 2
1 2 3 4 n
1 1 2 3 n-1
1 x 1 2 n-2
3> D=1 x x 1 n-=3|.
1 X 2
1 X 1

1-9. I A e PR -




a, a, 0
0

all a12

cl 1 cl2 bl 1 b12 a21 a22

c2 1 c22 b2 1 b22

1-10. FIH Cramer yEIIME T #1217 P4 -
X, =X, +x,-2x, =2,
2x, —x;+4x,=4,
(1) 3x,+2x,+x, =-1,
—x, +2x, —x;+2x, =—-4.
2x, +x, =5x;+x, =8,
2 x,—3x,-6x,=9,
2x, = x; +2x, =5,
X, +4x,—Tx,+6x, =0.
1-11.  FMTEPE T REAH
X, +x,+2x,+3x, =0,
X, +2x,+3x,—x, =0,
3x,—x,—x;—2x, =0,
2x, +3x, —x; —x, =0,
R TR
1-12. i A BUAERS, FrREt T Rl

Ax +x,+x,=0,
X +Ax,—x, =0,

2x,—x, +x;, =0,

B




